

I

11








12







:

-V=f(t)

AVIMECA2
REGRESSI
v=f(t)Excel



5لوحدة ا




5.2L
22.2g

rair=1.3kg/m3
















V=Vlimite


limiteV



 V=f(t)

Vlim=2.5m/s
t


t=0s

t=0.4s



بطاهر :الأستاذ 
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










II
21–


oP=mg
o


f=kvn

k

n=1f=kv
 n=2 f=kv2
o


p =m0g=r.v.g

rkg/m3
Vm3
gm.s-2

2-2



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


aF

aF
Gext

Gext

mfP

m

rr

rr

=++=

=
®®®

å

å
p



oz
P - p - f = maG


m
kv

m
Vg -r aG = g -




m
kv

m
Vg

dt
dv

m
kv

m
Vgg

dt
dv

air

air

-÷
ø
ö

ç
è
æ -=

--=

r

r

1



(r-rair)Vk

g     VL=

f=kv2
(r-rair)V  .

k
g     VL=







5t


III
31




rfluide>rsolide
32

m




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





=mg

dt
dvm

 oz
=g

dt
dv

-
o=g

dt
dvV=gt+b

bt=0 v0=b
V=gt+V0





o=gt+V0

dt
dz V=½ gt2+V0t+z0z =

½ gt2+V0t+z0z =

z0t=0


v=f(t)
z=f(t)

v0=0z0=0





o

z

V z
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